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What is the basic unit of data in digital
computers?

(A) Byte

(B) Bit

(C) Nibble

(D) Word

Which component of the computer is referred
to as the 'brain' of the computer?

(A) RAM

(B) ROM

(C) CPU

(D) Hard Drive

Which type of memory is volatile?
(A) RAM

(B) ROM

(C) EEPROM

(D) Flash Memory

GUI stands for :

(A) Graphical User Instrument
(B) Graphical Unified Interface
(C) Graphical Unified Instrument
(D) Graphical User Interface

Which of the following is an example of
secondary storage?

(A) RAM

(B) ROM

(C) PenDrive

(D) Cache
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10.

In which form is data stored in computers?
(A) Decimal

(B) Binary

(C) Hexadecimal

(D) Octal

EEPROM stands for :
(A) Electrically Erasable Programmable
Read-Only Memory
(B) Electrically Enabled Programmable
Read-Only Memory
(C) Electronically Enabled Programmable
Read-Only Memory
(D) Electronically Erasable Programmable
Read-Only Memory

The first microcomputers were built using which
microprocessor chips?

(A) 8-bit

(B) 16-bit

(C) 32-bit

(D) 64-bit

Which of the following computers is designed
to support multiple users simultaneously?

(A) Microcomputer

(B) Minicomputer

(C) Mainframe Computer

(D) Supercomputer

Supercomputers are mainly used for :
(A) Personal Computing

(B) Office Applications

(C) Weather Forecasting

(D) Simple Calculations
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The BIOS is responsible for :

(A) Running application software

(B) Basic Input/Output System functions
(C) Managing RAM

(D) Antivirus protection

Which of the following is not an input device?
(A) Keyboard

(B) Mouse

(C) Monitor

(D) Scanner

An interpreter translates :

(A) The whole program at once
(B) One instruction at a time

(C) A program into machine code

(D) High-level code into assembly language

Which language is directly understood by the
computer?

(A) Machine Language

(B) Assembly Language

(C) High-Level Language

(D) Natural Language

Which of the following is an advantage of
computers?

(A) Can only perform one task at a time

(B) Slow processing speed

(C) Requires human intervention

(D) Large storage capacity
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What does ICT stand for?
(A) International Communication Technology
(B) Information and Communication
Technology
(C) Internet and Computer Technology
(D) Information and Computer Technology

Which of the following is not a benefit of ICT in
education?

(A) Enhanced learning experiences

(B) Increased engagement

(C) Reduced administrative workload

(D) Increased physical book usage

Which device is used to read bar codes?
(A) MICR

(B) OCR

(C) Bar Code Reader

(D) OMR

What is the main purpose of an OER (Open

Educational Resource?

(A) Commercial profit

(B) Restricted access

(C) Open and free access to educational
resources

(D) Private educational use

Which type of memory can be reprogrammed
with higher voltage than is normally used?

(A) ROM

(B) EPROM

(C) PROM

(D) EEPROM
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[ WDD-101/EOM-101/CSPD-101/2024 |



21.

22.

23.

24.

25.

What does MOOC stand for?

(A) Massive Open Online Course
(B) Managed Open Online Course
(C) Modular Open Online Course
(D) Media Open Online Course

What is a key characteristic of MOOCs?
(A) Limited to a small number of students
(B) Free and open enrollment
(C) High fees

(D) Classroom-based learning

E-Governance primarily aims to :

(A) Improve internet connectivity

(B) Increase government employment
(C) Reduce the use of computers

(D) Provide online government services

Which technology is commonly used in e-
governance to authenticate users?

(A) Bar Code

(B) Biometric

(C) OCR

(D) Magnetic Strip

What is the purpose of an e-repository?
(A) Store physical books

(B) Store digital content

(C) Restrict access to resources

(D) Increase paper usage
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What is blended learning?
(A) Traditional classroom learning only
(B) Online learing only
(C) A mix oftraditional classroom and online
learing
(D) Learning through books

Which of the following is a key benefit of
technology-enabled education?

(A) Limited access to information

(B) Personalized learning experiences

(C) High costs

(D) Static content

What does LMS stand for?

(A) Learning Management System
(B) Local Management System
(C) Learning Modular System

(D) Learning Micro System

Which tool is commonlyused for online meetings
in education?

(A) Word Processor

(B) Spreadsheet

(C) Video Conferencing Software

(D) Database Management System

Which term refers to learning via the internet
outside the traditional classroom?

(A) E-Learning

(B) Distance Learning

(C) In-Class Learning

(D) Face-to-Face Learning
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Which of the following is a benefit of e-
governance?

(A) Increased paperwork

(B) Delayed services

(C) Increased transparency

(D) Reduced public access to services

E-governance can improve :
(A) Bureaucratic delays
(B) Service efficiency

(C) Corruption

(D) Paperusage

What does the acronym NIC stand for in the
context of e-governance?

(A) National Information Center

(B) National Institute of Computing

(C) National Informatics Centre

(D) National Internet Centre

A key component of e-governance is :
(A) Physical filing systems

(B) Online service delivery

(C) Paper-based transactions

(D) Manual processes

Which of the following is NOT an example of
e-governance?

(A) Onlinetax filing

(B) Online banking

(C) Online passport application

(D) Physical submission of forms
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Which software is commonly used for data
analysis in research?

(A) Word Processor

(B) Spreadsheet

(C) Statistical Analysis Software

(D) Database Management System

Which of the following is an advantage of using
ICT inresearch?

(A) Manual data collection

(B) Limited access to information

(C) Increased errors

(D) Faster data processing

Which tool can be used for qualitative data
analysis?

(A) SPSS

(B) NVivo

(C) Microsoft Excel

(D) SAS

What is the purpose of a digital library in
research?

(A) Provide access to digital resources

(B) Store physical books

(C) Restrict information access

(D) Increase paper usage

Which of the following is a common use of ICT
inresearch?

(A) Manual data analysis

(B) Online data collection

(C) Physical survey distribution

(D) Handwritten notes
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